Scotland v England: Stuarts v. Tudors

1. Choose the correct option

a. Henry VIIl wanted
* to have his son marrying Mary Queen of Scots
« Scotland to continue with the Auld Alliance
+ to secure a Scottish heir in the throne

b. Eventually, Mary Queen of Scots
e Married Henry VII
» Married Edward VI
+ Married the French King

c. During the Reformation
s Scotland remained Catholic
s Scotland turned towards Protestantism
s Scotland was half Protestant and half Catholic

d. The Kirk was better than the Church of England because...
« It had more money to spend in their followers
+ |t had more bishops appointed by the monarch
« |t was more democratic and transparent

e. Mary Queen of Scots was seen by the Scottish as...
A monarch who wanted to bring Catholicism back to Scotland
e A Catholic monarch with little interference in the religious decisions
+« A monarch who wanted to make an alliance with England

f. James VI of Scotland is well known for
« Bringing the English and Scottish thrones under his power
* Being popular among his people
e A great tax reform in Scotland and England
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